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e Please check that this question paper contains 7 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 33 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

Multiple choice questions / Fill in the blanks/Direct questions :
contains total 12 questions of 1 mark each. Answer
any 10 questions.

. Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.

e  Short answer type questions : contains total 7 questions of 3 marks
each. Answer any 5 questions.

SECTION B

Long answer /| Essay type questions : contains total 7 questions of 5§ marks
each. Answer any 5 questions.
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SECTION A

(frarer o SR/ TEA/aE e T S9)

(Fill in the blanks/Direct questions’/MCQ)

ﬁmﬁ@ﬁﬁ#ﬁﬁfé’fmmﬁ%maﬁm 1x10=10

Answer any ten of the following questions.

1. Wmaﬁtwﬁﬁfaﬁﬁwaﬂtwmﬁmﬁﬂﬁ
gl I |
Application of computer and communication technology in library
operations and activities is known as -

9. MARC®IZ?
What is MARC ?

3. HTML®R?
What is HTML ?

4 30 TRE SSHE 1 T ISR R |

An example of Open Access E-journal is

5. T ST fawen € |

is an operating system.

6. W@H@Wéﬁﬁaﬁﬁ%muﬁﬁm%m-m%mw
a‘rwqﬁmﬁzaé?(LAN)ﬁsqa‘m‘éﬁm?ﬁwﬁﬁ 2|

is the technology used in Wireless Local Area Network
(WLAN), to exchange the data through an electronic device like
computer/mobile phone.

7. mﬁammﬁmmwmﬂ@m%?

Which technology is used in automated circulation system ?

8. e e 3-FEH B |

is an offline e-resource.
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9. GPRS®HIQi®game?
What is the full form of GPRS ?

10. aﬁr“@hawﬁsrm”%ﬂwmél

is known as “Science of Search”,

11, forelt SwivTehat 1 @ %1 sy (gt 2w fm A 2
(%) w28 [uifa (% fifiaet) womedt
(@) =riesl (o)
(M) = =« @
() @ aRomt &1 ge
The following is a searching intention of a User :
(a)  Fact retrieval system
(b)  Navigational
(c) High Recall Search

(d) Review search result

12. TCPﬂpﬁamﬁmwmﬁﬁaﬁqﬁ% ?
(%) EIE AW
(@) Twiohye ot
() USRYH oRR
(&) e ok o

Which of the following layers is the first layer of TCP/IP Reference
Model ?

(as Transport layer
(b)  Application layer
(c)  Presentation layer

(d)  Data link layer
272 4
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(Very Short Answer Questions)

Amffkeaa 7 @ fonedl uta I31 & I AT | 2x5=10

Answer any five of the following questions.

18. &I % TGS ohl AT SHId THT JOTTelt hl ATavasharsti shi Sd il
T 7 ?

Why must system requirement be checked at the time of library

automation planning ?

14. TR 9aArst i w1 gy § 2

What are the demerits of Star topology ?

15. 3-5Hc@ ¥ ITANTHAIST ! T A9 & 2

What are the benefits of E-journals to the users ?

16. AT IRS i Y@ fasivamd fafaw |

Write the main characteristics of online IRS.

17. S2afeT TRrehiel o1 gRTiE Hiv |

Define Networking Protocols.

18. 'gfRf wiresm wn § 2

What is a Utility software ?

19. TEGeRO GEIUE (ShealiT) & T T THIA & ?
What do you understand by library catalogue ?
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(Short Answer Questions)

ﬁw%aﬁ#ﬁ?-ﬁvhuﬁ%wzﬂﬁm 3x5=15

Answer any five of the following questions.

20. RSS (= dr3e awd) R T dierar feoqoft fafgn |
Write a short note on RSS (Rich Site Summary).

21. %&aﬁwﬁmmwwmw&%ﬁm@amﬁmm
St R 2

How is the Boolean Search technique useful to find out answers of query

with various options ?

22. AT - = 0

What are online E-resources ?

23. Wﬁw%mmmmaﬁwl

Explain wire technology used for transmission of networking.

24. é;ﬁz%qm‘s‘aﬁz@ﬁm%?

How is Intranet different from Internet ?

25. wmammm%ﬁmﬁ?
i

How is an Open Source Software different from Proprietary Software ?

26. KOHA %2 ?Komﬁxwﬁamamm%ﬁwaﬁ%w%ﬁgq |
What is KOHA ? Write the software names to run and install KOHA.
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SECTION B

(e swdra/fAsraTeas TvA)
(Long Answer/Essay Type Questions)

fefeifea 7 @ feredl uta g9a1 & I} i | 5x5=25

Answer any five of the following questions.

27.

28.

29.

30.

31.

32.

33.

212

QIS T (T Foll) Sfoared (Biger) i i @ @ 2

What is the process of search query formulation ?

I GISA T BT & ? S0 Uh! hl THEATT |

What is a Web Portal ? Explain its components.

AeafenT 1 aRwIed AT | FeafhT w1 STTawEs § 2

Define Networking. Why is networking necessary ?

g ghm (T WS) % SURYd "iuEl s T Hifve | gee @
HifeTt FAH E?

Explain the basic steps of search strategy. What are the categories of
Information Search ?

T 1 Yaw gR (Weoide Ned) AT B 2 $-TETEA] o R A B ?

What is Subject Gateway ? What are the advantages of E-resources ?

LAS 1 STavaehal 7 g9 F1 8 ?
What is the need and purpose of LAS ?

3 faftys =& = & [ 9o yorelt § we=nfera foman S gehar @ 2

What are the different tasks that can be automated in an Acquisition
system ?



